Classwork 2, MATH 1113 Harrison Chapman Name & Time: W

1. The equations,

(B3 (x=62~(y~4)*=4 and (x-3)°—(y~3)2=9 @
Caveles

Draw them both below on the axes provided.

describe graphs of what shape?

Write an equation for each circle depicted above.

¥, Coduds =7, caylen

) 1
r"“\
2L
) \_.,,
\t)/ p—y
— -
"\ 0
N ——
711 ®
&2
S ¢
+ +
S~ e~
o o
ol 1
™~ —
e’

@ davs =1, amten <



3. Determine whether the point P is inside, outside, or on the circle with center C and radius r.

a) P(2,4),C(4,7),r =4
AP )y = (420 + (2-9)

a\)‘Zl*%l:JWZJE <JTZ=:L#:~(‘

| The :»(./,'/

b) P(6,10),C(3,6),r =5
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c} P(3,9),C(2,5),r = 6‘_,“,‘_,-»—-—~—\_~_]
20,0 = (2-3 + (s-a)"
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4. Solve the inequalities for x, putting your answers in interval notation.

a) 2x+7 < 4x — 1.
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5. Complete the squares to find the center and the radius of the circle.

P4yt —12x 42y —44 =0

X 12x %< (x~-A)°
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W h7 = 30

(x-6)" +(y+1)* = §)
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y=—x2+5
on the axes below

6. Sketch the graph of the equation,

List any y-intercepts of the graph.

=

List any x-intercepts of the graph.
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